TRIGONOMETRY
SHEET 05
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% |+4omle=- sec?o

* |+ (ot20 = cosec?®d
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1. The numerical value of
5Cos0 +_ 2+ 3sints

Cosec’D S = + 3sin’0 js:
t n-0 '
w SSC CGL 13 June 2019 (Evening)
= 2
O N~ (b) 2



e AMATH SER L A R T sy ADITYA RANJAN SIR

2. The numerical value of

3
- + 2sin’0 | ;e -

(a) 2 (b) S
(c) 6 \(3)« 3

Sintg + ?’LOS)
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1 +S) (-- -3) 3. The numerical value of

- Gpgweng (Lo L1 L,

I c* cos® cotO /| cos® cotO
50 (a) O (b) -1
der 1 (d) 2
L < ‘o,
Wy O Sing

T
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o +.8 sinA " sinA
(10 (1-¢) 4. The wvalue of —— Y W— is
= S-s€+s+SC (0° < A <90°:
1-c2 {a]” 2 cosecA (b) 2 secA
= 2 - _ c) 2 sinA d) 2 cosA
2L =8 - © (d)
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5. The numerical value of

- sec?27°+ - cosec?27°

+
: cot’63° sin’63°

is :
(a) 1 (b) 2
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Sec* 81 _ P sec’81°
T, 6. If tan 9° = q,thenthevalueof1+cot281°

is :

— 0sec g

| + ton?q’ (a) (b) 1

? .
M = Cos*q

Sec?*q SintqQ £ i
= (0+Qq = %'). (<) q2 \(9’( p2
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=0 o 90

7. sin®0 + cos®0) + 3sin?0 cos?0 = ?
4 e=0 © +1 + O 1
(a) O (b) 5

1
de] 1 (d) 3



SinYe +LosH¥e = -2 sin'® os?e

Sinp+cosés = |- 38in*0-wWs?d

Sintg 'HJOSZQ = |
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7. .sin®0) + co0s®0. + 3sin?0 cos?0 = ?
|- ‘BSM +3§ip7@c/a!2@

1
(a) O (b) 5

1
el 1 (d) 3
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HHou"0 = sec'e 8. What is the value of
touwo = seclo - | 1 1
sin*(90°-0)  [cos?(90°-0)-1] ~ °
(2] tan?0 sec?0 (b) sec?0
(c) tan?®0 (d) tan?0 sin?0
z{ﬁ; W. ) EA;'B- Ilas’e
s Sﬁc\ig
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1+ Qtou'x -25ect-taux Qg What is the value of
Secx — FowmK

1+ 2cot?(90°-x) - 2cosec(90°-x)cot(90° -x)
cosec(90°-x) - cot(90°-x)

-  Secy +4owx -QSext+omy
Secx - +amy,

- [ = (a) cosx + sinx
—w (b) sinx - cosx
i N (c) secx + tanx

S ~tauy ) secx - tanx

S
==



J

Q 2
Seo +L0secd
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_Sec'o+ (osec™® 10 2 + tan”0 + cot’0
' is equal to :
Secp-wsecd secOcosecH
SSC CGL 4 June 2019 (Morning)
- 7 3{ .
- Secdgxosedp (a) cot0 (b) cos0.sin0

SeeERQsee “_le) sech. cosechd (d) tanO
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(|++au‘9)+[l+4_(l;“1°]:l< 11. If (1 + tan20) + [1 +‘1] = k, then /)¢

=7
D) seco+ (1+w0t?) = K SSC CGL 6 June 2019 (Evening)
3 Sec'® +(ose?o= K \(a/ secO.cosecO (b) cosO.cosech
D {secdxcosecs o (c) sin0O.cos0 (d) secO.sin0
-) se(waSegoz \rE l-{.(-l.qgs)-l - 14
Tauig
(.l """Qu‘g)-\ -

S———

H-mlg
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(seco + 4omp) (I-5in0) (secO + tanO)(1 - sin0)
(Loseco +cote) (wsecs-wof™="  cosecB(1+ cosO)(cosechd - cot) is equal to :

SSC CHSL 2 July 2019 (Morning)

- (SQCG'H‘QMOM ,-SMOZ XSewd (a) sin® (b) sech
Csec’o- wt?e oo \(,e')/ cosO (d) cosech
. Secs |+ 4ol = Sectp ) Ses - toulp - |
- ' H. (0"'26 - (.059(7

m ~Wsp ® D Wseclp-(oripn=< |
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(5" o) (5 ko) 13, If {809 cosccONcosh - 2¢c0) = 3, then r=7?

tan’0 - sin”0
Sm‘ﬂ - Sinto
SSC CHSL 3 July 2019 (Morning)
= (S\n‘l-o | (0sp- ] (a) sin0. cosO
Smo 0030. (b) tan0
— W0/ \ Qse /
Sing [7!581{ |_J (¢} cotd
= <(ogly (d) cosecO.sech
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s-1L\(<C-1
( S ( C ) 13. If (sin® - cosecB)(cosO - secH)

s? [_.l_‘ "J y tan’e - sin’0
SSC CHSL 3 July 2019 (Morning)

=r,thenr=7?

C.Q’
& -3 (a) sinO. cosO
S2xs¥ s3 (b) tan6
2 =
C <) %zY \(,e’)/ cot0



= (Seco-+amp)| seco
[ QCQ ++M4 SeCo (C)

COMPLETE MATHS

amO - Secd + sectf-+om
tomd +Sewe -1

K (seco - Tomp) se g
3
S
Secg _

6D“""u. If (

COURSE (For all govt. exams ) BY ADITYA RANJAN SIR

tanO - secO +1 1
tan® + secB -1 ) *9¢9 = k'’ then k=7

SSC CGL 7 June 2019 (Afternoon)

(a) 1 + sin0 (b) 1 - cosO

1 + cos0 (d) 1-sin0

9 CS“G'*%”(SGCHMS% .

B)< ,\.
“ecoﬂ%w

%) (s
) -4_%



O=135"

Sin 135 = sin(Q0+4S’) —osys=_)

S

C0s 185 = 0S(Q0+ys) = —sin yg = -1
\2
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B=-13¢
= =1+K tan® cotO
1-(-|) - (-n) 15. If 1 -cot®  1-tan® + k, then k=7
) =1 - .L |4k L J.QSSC CGL 7 June 20}29 (Evening)
a2 M cotO + secO tanO cosech = -2
) —l-l=x =) tan0 + secO (d) cosech.secO

K B bt 2) (- @) o
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(K—wsece J-wsece) Coso :2 1 1
(I- wsec*0) 16. (1 +cosec® 1- cosecO) cost) =2, 0°<H <907,
PR then the value of sin?0 + cot?0 + sec?0 is :
) "‘:S;\g'e“‘e = SSC CHSL 3 July 2019 (Evening)
2) Cos6 - SIn'd = 1
: =~ -~
SiPg~ (s -1 b) 22
Q=) 1
A DR @ 2



[y ey
1+ Sin® Ttsine C=sim)
= ’(l-s‘mx)" L=Siny
= - “Sin‘)( —

> 4 '
\\ Siny = Sew - +aux
X '\t Siny

1 Siny
Q\hglw N Secx+-l-owx
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a - tanx,

% %K
@ It is given that

Secwx ~ M = Q—jmé then a is equal to :
SSC CHSL 10 July 2019 (Evening)

(a) cosx (b) sinx

(c) cosecx \(}i‘)/ secx
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20+ ws0+ SN0 2 2
:119_53;'_‘_°‘7——-18 (1+ cosB)? +sin’O .
%)?.T’O.’We "  (cosec’®-1) sin’0 °

- Q+9wsp =g (l+wse) SSC CGL Tier-II (11 September 2019)

) (0s?p  (Osp wsg (a) cosO(1 + sin0)
9 secs(gecq 1) (b) 2 cosO(1 + sech)
(c) secO(1 + sin0)

\(9/2 secO(1 + secbh)
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2

E
oy 2
c |+ l-tanﬂ) .

0 SSC CGL Tier-II (11 September 2019)
=/ £-S
c_ |+ | (a) cosec?0 (b) sec?0
% (c) sin?0 (d) cos?0
= % 2
@f()' X t |
< =
S2
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+ C
i .?:.~ C 20. DOED Toowe is equal to :
S \ cotO - cosO 1 '
= [+ _ | 1tS SSC CGL Tier-II (11 September 2019)
£~ . %— \(9«/ secO + tan0 (b) 1 + secO.tan0

(c) 1 -secO.tan0 (d) secO - tan0
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sintA + (1-WSA) ) (Lcﬁg +l+com) 21. The value of
2

WA -] Fraea l-cosA) [(eot’a ).

1 cosA sinA 1+ cosecA :

- (_S\Wl-l-l-l-u\wawsa) T SSC CGL Tier-II (12 September 2019)
SinA(I- wsA) Oosecig+w;e(ﬁ) it 3 o L
2 2
= Q-
—2UOSH) x (prasecny (c) 1 ()2
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s(1-5)(s+0)( 142) 22  The value of
S(" té) e ( Hé) sin(1 - sing)(sing + cos@)(secy + tanp)
- sxg}xcs+c) sing(1 + tang) + cosg(1 + coty) is :
w SSC CGL Tier-II (12 September 2019)
_ S (a) 2 coso (b) cosecop.seco
T SshTT | s (c) 2 sing (g)” sirfp.cost
Silstcy s
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(—é '€)2 ('“)qxé'a 23. (secop - tang)?(1 + sing)? =+ sin?p = ?

2 2 SSC CGL Tier-II (12 September 2019)
= (-S)"x (1+5)
c: g2 (a) cosop \_(9)/ cot?p
— ((l-'i)(l #5)) ;| (c) seco (d) cos?p
ST
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24. The value of (1 + cot0 - cosecO)(1 + cos0
+ sin0)secO = ?
SSC CGL Tier-II (13 September 2019)
(@) -2 N

Note:- (c) secO.cosecl (d) sin0O.cos0

+Wte -



24. The value of (1 + cotO — cosec0)(1 + cos0
(1+w0t0-wsecd) ( I+ SO +5ine) secd + sin0)secO = ?
SSC CGL Tier-II (13 September 2019)
- ( |+wt6-wsed) ( seco + 1+ +omb)

(a) - by 2

% | ++omd + 00§9(O-6 W+o | (c) sec() cosecl (d) sin0O.cos0

+1 - -~ Wsewseco ){ce S;/e

- |94
1048 +0+D ~cosece Sec®
B- :

..L(s

|



— sew-4+0m0

$€O + +om 8

|-Sind
I1+Sind

@ |Ll+Sino _
|- Sing

@ \-0s®  _

Itwogg (._\% )
Sintg~ = {zten)
Sinm
D -tg
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L (40 cosecq - cot si
X @-cotep  sing
e - 25. The value of Vcosece +cote * 1+cosg
is equal to :
-C) X (I-
\i%\l:?) (“Q) A (H(‘) SSC CGL Tier-II (12 September 2019)
- (-0 1
S ('é\() (a) coseco (b) a

= Loeq () seer NG 8!
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fg (1+<) cosecq - cot sin
5 @ -cotp ®
1g G 25. The value of ) pr————— -y

= (cosecs -w+6) (Loseco + wtd) is equal to :
- SSC CGL Tier-II (12 September 2019)

C(DSCC?B- Wt e) - ®

(a) coseco (b) »

2

© seco (@)1
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(‘%—'{')( '*‘(3*'\},5) 26. Fin(i the value .

% CO

43 L (sin® - cosO) (1+tan® +cotB)
2 1+ sinBcosO '
D BG4) Lywf SSC CGL Tier-II (13 September 2019)

-l e (a) secO - cosecO (b) cosecO - secO

%— = (c) sin0 + cos0 (d) tan0O + cot0

* o
Q-8 -
3 9 5 TG
= ((};\) T {37 3 i\%‘a\

\(3
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Q= s’
. 27. Find the value of
1 +L-1
Z @ |xs sin® +cosO-1  tan®O(cosec’®0-1)
N2-1) X .
1 sin® - cosO +1 secH - tan®
- M SSC CGL Tier-II (13 September 2019)
X Ll (a) O (b) -1

l M
ol 1 d) 5
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Q=u¢ 2 2
1-2sin“Ocos”O .
28. The value of T e 1 is:

;‘% )\1 - ¥ Lx _%SSC CGL 7 March 2020 (Morning)
1 x| (a) - 2sin%0.cos?0 (b) -1

2 \ (e} 0 (d) 1
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=ys
’ 29. The value of (cosecA + cotA+l)(cosecA—cotA
+ 1) — 2cosecA is

SSC CGL 9 March 2020 (Afternoon)

(a) 4cosecA ul{i \(b)/ 2
(c) 2cosecA o= (d) O
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| 20SB=16
')gdssjf{;‘_"ff}' “%=30. If 117 cos’A + 129 sin?A = 120 and 170

" cos®’B + 158 sin®’B = 161, then the value
) wilesf <) " of coseciAlsec’Bls :
SSC CHSL 13/10/2020 (Morning)

B=60) (a) 1 (b) 9
4xY ‘ (c) 4 \_(d)16

17(c0s?A +Si24 )

+ 128100 =9,




+ou’y = 1 @) 5 tom'x-daux =L

{Mux_
_ {QM\‘X - Seclx ]
: | l Then Sinx 4+ gin2y = 7?
Cos'X 0
Qs COS’x+ sintx
S Q3
Cos? )
© L
2
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: | — QSN S
@ The value of ,sin‘G-*-)c‘::f; + 2sin?0cos is

SSC CHSL 19/10/2020 (Evening)

a1 (b) 2

(c) 4 (d) O




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR
Q=0

@ The value of sin‘0 + cos*0 + 2sin?0cos?0 is
SSC CHSL 19/10/2020 (Evening)

NDE! (b) 2

(c) 4 (d) O

= (Sineg +Hafls )%

- O
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33. cosA(secA - cosA)(cotA + tanA) = ?
SSC CGL 2019, Tier-II (15/10/2020)

(a) secA (b) cotA

(C) sinA \WtanA
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34.(1 1)+ : i =?

cos® sin® cosecO - cot® secO + tan®
SSC CGL 2019, Tier-II (15/10/2020)

\j,aj/sece.cosece (b) sin0O.tan0
(c) cosech.cot0 (d) sin0O.cos0

S}/G-(o}/
qy)
+ (o eO+Wte — S;{Q ++omp

+QMQ+CQ+G
S
C+% :S)J'\CI:L < Gy
Sc Sc < Q(QSGQG

1 «f
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@ 35. The value of

(9xu)= ( 3" ') - sec’0(2 + tan’0 + cot”0) + (sin”0 - tan”0) .
Yxu (cosec?0 + sec?0)(1 + cot?0)?
- 8= (-4) SSC CGL 2019, Tier-II (15/10/2020)
2 (%
e s1-1 5 1
T &y (. (c) -2 (d) 2
B (A

M
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1 36. The value of | o 0.570
€ 0Se¢O SeLo (sino-;wo-l)(S'inG-HmQ +1) w+ 3W is
cosecBOsecO(sinO + cosO -1)(sinO + cosO +1)
- o (_L-l- ) T 1: SSC CGL 2019, Tier-II (15/10/2020)
\2 2 (a) 1 (b) 2

(d) 3

il
Ko
>
>
o -
>
x
-’
NI%-

(1l
e
-+
S
()
o
5
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(_SI'QQ""DSB" ) (SCCO+-}0WB)

v sin® + cosO -1 1+ sin®
Sind- L0SP +I 37. The value of

sin® -cosO +1 X \}1 - sin®
SSC CGL 2019, Tier-1I (16/10/2020)

- (_@-\ ),(m,) (ay1 (b) -1

() -2 (d) 2

©=-uyg




'COMPLETE |\,/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

- & —
3bcosecd =,asece —1) 38. If0° < 0 <90°,

3b cosecl = a secO and 3a secO — bcosech =
8, then the value of 9b? + a? is :

30 Secd —bwseco =8 -—@

S 3X3bwsecg-boseco= 8 SSC CHSL 19/10/2020 (Afternoon)
1
=) wasecgr/g (a) 6 (b) 8
5 (el o= | &9 (d) 7
QDSC.QQ~ S\@
9 3= asec ASinle LRC T

:) 3z Q = Q
T‘\’]o ‘-) Q~3C&S
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. A7) 9 = <ind: ;
A SinB+ yDs76 = S1nd s 39. If x sin®0 + y cos®0 = sinf.cosO and x sin®

= y cosb then the value of x* + yis :

D) wxl +xxLl = _L
G e 2 SSC CHSL 20/10/2020 (Morning)
5 Ak - (a) O (b) 4
2 2@ \,(9)/ 1 (d) 2

V
X0 e R
= O
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4 -2(1-0s'e) -5Ws® =0

) Y- 2 +2ws’0 - 5080 =0 40. If 4 - 2sin”0 - 5 cos® = 0, 0° < 6 < 90°,

then the value of sinf + tano is :

= 5% +2 = Q @ mse:@ SSC CGL 4 June 2019 (Morning)
D AP-Uy-x+2:=0
2 3
=) Axx-2) -1(x-2)=v (a) % \Ma\zf
A (x- -1)=
2) (2x-1)=0 (c) 3/2 d) 23
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Cp<*0 -3 SH 2= |-0SHO

41. If cos?0 — 3cosO + 2 = sin“90 < 0 < 90°, then
2) 2ws?0-3wSp+1=0

the value of 2cosecO + 4cot0 is :
2D Qws'e -2WsD-Wsp+I=0

SSC CGL 7 June 2019 (Afternoon)
2) Qwse (wso-1) -1(Ls8-1)=0
) Cwse-|) L&wse-l):o \m\/g (b) 4\[5
3) ay 3 4
X (c) 2.3 (d) 4.3
V() Q=
X4y _
Boq %"\fi T 3(3
% 3
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: 1n )=
4 (25i0+10<'0)=12 42. For 0 being an acute angle, 4 (2sin’0 +

=) 4(asicte+aws'o+sws’e)=13 7cos?0) =13. What is the value of 0 ?
SSC CHSL 10 July 2019 (Morning)

) Y4( 9+ Swswe)= 13 \_(xf60° (b) 45°
0) 8+Q0wslo=13 (C) 30° (d) 0°
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c2_3542=C* 2
ostosias et g3 g Siledslnge2 L oo
S 2s2-35+1=0 cos @
S 2g%-25-8+1=0 90°, then the value of (cos2¢ + sin3¢ +
o) os(s-))-1(s-1)=0 cosec2p) is
2D (s-D(2s-D=0 SSC CGL Tier-II (12 September, 2019)

X - (a) (b)
. \ Qo \/ 3 6
JJ‘\.(.L 9+4\/§ 3+2\/§
:9' \3 W 6 @ —3
T8 sapg
LNy
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If 2cos?0 - 3sinf = 3, 0° < 6 < 90° then
oo What is the value of sin®26 + cos?0 +
—  tan?20 + cosec?201is :

SSC CGL Tier-II (13 September, 2019)

35 29
(@) 15 (b) 3
35 29

(€) ¢ (d) 6



